-0.05

-0.15

Ratio

0.0 fl: ARjiIR:A
OF -+ fk+ :
E i :

-0.1

_D@:....i....|....i....|....|. .
3

Ratiq

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

0.95!

x107°

-2 -1 0 1 2

3
TP n (PCA to beamline)

x107°

< d cot(B) >
o
[
[6)]

0.05]

-0.05

-0.15

o002

Ratio

0.95!

W

-1 0 1 2 3
TP n (PCA to beamline)

-2

—=— _/DQM_IT__original_PUO
—_— DQM TT__plL_eta3_1PU
—— DQM_TT_pL_eta3_2PU
—— DOM_TT__pL _eta3 2PU

..........................................

.....................................

............................................

—
caes
4
K
K

0.95

(@)

|
=
T

-2

=
I

-2 -1 0 1 2

T

TP n (PCA to beamline)

S Meneeaan PR [ I P

2 -1 0 1 2

T

3

TP n (PCA to beamline)

U N S 11
H%#& o%lvmﬂ %#%Jf# ﬁ

..................................
.................................. LA S

R [P A deeeenan LA R

OJ""

-1 0 1 2 3
TP n (PCA to beamline)

-2



	Contents
	Page 1


